o0 a ) (cm)

Ratio

o(6 @) (rad)

10

Rat

Xy

107t

1072

106%_ [

0.954

1_: pe | IEEsadPs - -

114 2
| 9 -ci.- 1e

-

1 0 1 2 3

a(d d) (cm)

[ —
<

I 1 1 1 11 1
: 1 i :
iEdlRs 1
: -+ : :
[ E S > e :
- he b ha -
iaFeaNESR R R E S NH RN S SN RN NP S RE S
H: b e
H: <+ <+ 4 '":' 44
b B .
H: b k2
i i i

—=— DQM_original_1000evt

—e— DQM_fitted4_1000evt

..........................................................................

H - Py
e » ; hd :
i

1 0 1 2 3
TP @ (PCA to beamline)

)

- 107

a0 p/p

10 1 2 3
TP @ (PCA to beamline)



	Contents
	Page 1


